M12

< g MS. ROUND WASHER (IS:2016)
2|y / FOR M12 BOLT
~ |
o L e |
g + [T
<t . -
it
X I
-
O
z - o
- S
o i
MS. TAPER WASHER (I1S:5372)
: P FOR M12 BOLT
- mase SN -
M.S. M12 HEX. BOLT & NUT : -
CLASS—4.6 CONFORM TO b . <
1S:1363 (PART—1) AND

1S:1367 (PART-3)

M12 HEX. HD. BOLT WITH NUT, TAPER & ROUND WASHER

NOTE:—
1. ALL DIMENSIONS ARE IN mm.

[Ll y(]] BRAITHWAITE BURN & JESSOP CONSTRUCTION
g COMPANY LIMITED, KOLKATA
e EAST CENTRAL RAILWAY

PROJECT:
BRIDGE NO- 17 ACROSS RIVER GANGA AT MUNGER

(29 X121.6M + 2X32M)

Tme: DETAILS OF HEX. BOLT WITH NUT & WASHER FOR
FIXING CHQD. PLATE WITH CHANNEL SLEEPER
(2ND_PHASE REQUIREMENT)

SCALE:~ NAME DATE | B.B.J. ORDER NO.—

DRAWN BY:  |A.K.SETH|02.06.15]| DRG. NO. REV.
CHECKED BY: o 3112-ERC-SK-39 |0
APPROVED BY: ' REQN. NO: D/9Z ¢ oaTE: 2404 hs

1 i ‘o 3 O i




